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ENGLISH VERSION

Instructions : (1) Write the answers of all questions in answer book.
(2) Figures to the right hand side indicate the
marks.
(3) Use of calculator is permitted.
(4) All questions are compulsory.
(5) Statistical tables and graph papers will be given
on request.

1 Write the correct answer in main answer book from the 20
given options in each multiple choice question :

(].) b123 e
oA, G,
A e — ——
@) SPYAYS ®) SPYAYS
o, Ay
O — (D) None of these

o) Ay,

@) If ny=n3=r3=k k#0 then ry3=........

k k
A) Tor ) 5
©) k(1+k) (D) None of these
@ Yxiy=
A) D x 3 B) DX,
©) Dxyx 53 (D) None of these

4) Coefficient of correlation between x; ; and x, 5 is denoted

by oo
A n3; B a3
©) R (D) None of these
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) Ryg =

(6) Formula to find 7, (Trend estimate for the time ¢)

A) ox, +Ps, B) aAs,-BT,_,
(C) ads, +BT,_4 (D) None of these
) N is a method of forecasting.

(A) Method of moments
(B) Method of minimum chi-square
(C) Method of moving average
(D) Exponential smoothing method
(8 The study of ............ was introduced first by American

economist Leontief.

(A) Exponential smoothing
(B) Least square's

(C) Moving averages

(D) Input-output analysis

(9) Relationship between ¢;,X; and X; is given by
(A) Xjj =X B) @ Xy =X
©C) a;=x.x; (D) None of these

/) g
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(10) Trend equation y = a+bx+cx’ where ¢»0 is called

(A) lLinear trend equation
(B) quadratic trend equation
(C) exponential trend equation

(D) None of these

(11) In O. R. .................. is very popular and widely used
method.

(A) Replacement programming
(B) Quadratic programming
(C) Linear programming

(D) None of these

12) ... is used to find optimum solution in L.P.P.

involving three or more than three decision variables.
(A) Simplex method

(B) Graphical method

(C) Least square method

(D) Simplex method

(13) In L.P.P. the objective function must be .............. function.
(A) linear (B) power
(C) quadratic (D) exponential

(14) Technological matrix is always ..............
(A) skew symmetric matrix
(B) square matrix
(C) orthogonal matrix
(D) None of these

(15) In order to convert a constraint 3x+4y >15 into equation,

(A) Slack variable (B) Economic variable

(C) Surplus variable (D) Continuous variable
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(16)

17

(18)

(19)

(20)

For

A parameter is a characteristic of ..............
(A) Sample
(B) Random variable

(C) Variable continuous

(D) population

A population having 4 units. The number of all possible
samples of size two that can be drum from it without
replacementis .............

A 6 B) 16

©C) 8 (D) None of these

Standard deviation of a sampling distribution of statistic
iscalled ................

(A) sampling error

(B) standard error

(C) non-sampling error

(D) probable error

¢ 1s an unbiased estimator for g if .................

A V(=6 B) E(1)=6
(C) E(1)=6 (D) None of these
SE(X)= ... when o is known.
52
A &2 B —
n
G G
© " D) I

the following data, obtain plane of regression equation

of x; on x, and x;. Estimate the value of x, when x,=7

3

and x;=10.

X =6  15,=070 o =283
Y, =3 5j3=084  o,=1.41
Yy, =4  1,;=062  o0;=2.28

OR

10
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(b)

(b)

(b)

(b)

(b)

Explain : Multiple and partial correlation. 5
Prove that by; 303316315 =153 731731 2- 5
Explain the exponential smoothing method. 5
Explain the input-output table for three industries. 5
OR

The matrix of technical coefficient is as follows : 5

1 2

4 3

1 1

6 6

If the final demands of industry 4 and B are 80 and
40 respectively. Find the total production of industry

A and B.
Obtain linear trend equation for the following time 5

series data. Use it to forecast the production of the
year 2008 :

Year: 2000 | 2001 12002 | 2003 | 2004 | 2005 [ 2006 | 2007
Production :
194 12021204 1214|238 258 (248|296
(In crore Rs.)
What 1s residual ? State its properties. 5
State main objects of sampling. 5
OR
2 2 2
Prove that (1_r12)(1_r13.2):1_R1.23 5
Maximize the objective function Z =2x+5y subject to 5
constants :
0<x<o6
0<y<4
X+y=>2
x+2y<10
y—x<2
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5 (@) Explain the graphical method for determining optimum 5
solution of L.P.P.
(b) Define the following terms : 5
(1) Solution
(2) Linear programming
3) Optimum solution
(4) Slack variable
(5) Objective function.

OR
5 (@) Explain : Population and sample with illustrations. 5
(b) Explain : Standard error ? State its uses. 5

6 (a) Explain : Simple random sampling method.

(b) State five characteristics of good sample.
OR

6 (@) Explain : Statistic and parameter.
() A sample of 60 size has mean 145 and s.d. 40. If the 5
population is normal and its mean is unknown, find the

95% and 99% confidence limits of true population mean.
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